# ABEL'S CONVOLUTION FORMULAE THROUGH TAYLOR POLYNOMIALS 

WENCHANG CHU

VIA DALAZIO BIRAGO 9E, LECCE 73100, ITALY, PHONE: + 3391210360, ORCID ID: 0000-0002-8425-212X

Abstract. By making use of the Taylor polynomials, new proofs are presented for three binomial identities including Abel's convolution formula.
§1. Introduction. There are numerous identities in mathematical literature. Among them, Newton's binomial theorem is well known

$$
\sum_{k=0}^{n}\binom{n}{k} x^{k} y^{n-k}=(x+y)^{n}
$$

Abel [1] (see [7, §3.1], for example) discovered the following deep generalizations of it with an extra $\lambda$-parameter:

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} x(x+k \lambda)^{k-1}(y-k \lambda)^{n-k}=(x+y)^{n} \tag{1}
\end{equation*}
$$

This convolution identity is fundamental in enumerative combinatorics and number theory. The reader can refer to [19] for a historical note. The known proofs can briefly be described as follows:

- Generating function method; see [9] and Chu [3].
- Series rearrangement and finite differences: Chu 4.
- The classical Lagrange expansion formula; see [17, §4.5].
- Lattice path combinatorics; see [15, §4.5] and [16, Appendix].
- The Cauchy residue method of integral representation; see [8, §2.1].
- Gould-Hsu Inverse series relations: Gould-Hsu [12] and Chu-Hsu [6, 2].
- Riordan arrays (which can trace back to Lagrange expansion); see [18.

The aim of this short article is to offer new and simple proofs for (1) and two other binomial identities via Taylor polynomials.

[^0]$\S 2$. Proof of (11). Denote by $P(y)$ the binomial sum in (1). Its $m$ th derivative at $y=-x$ is determined by
\[

$$
\begin{align*}
P^{(m)}(-x) & =\left.x \sum_{k=0}^{n-m} \frac{(n-k)!}{(n-k-m)!}\binom{n}{k}(x+k \lambda)^{k-1}(y-k \lambda)^{n-k-m}\right|_{y=-x} \\
& =\frac{n!x}{(n-m)!} \sum_{k=0}^{n-m}(-1)^{n-m-k}\binom{n-m}{k}(x+k \lambda)^{n-m-1} \tag{2}
\end{align*}
$$
\]

To evaluate the last sum, we recall the difference operator $\Delta$, which is defined for a function $f(y)$ at the point $y$ by

$$
\Delta f(y)=f(y+1)-f(y)
$$

By applying $n$ times of $\Delta$, we have the $n$th difference

$$
\Delta^{n} f(y)=\sum_{k=0}^{n}(-1)^{n-k}\binom{n}{k} f(y+k)
$$

In particular, when $f(y)$ is a polynomial of degree $m \leq n$ with the leading coefficient $c_{m}$, then by induction, it is not hard to prove the important identity (see [13, Equation 5.42])

$$
\begin{equation*}
\Delta^{n} f(y)=n!c_{m} \chi(m=n) \tag{3}
\end{equation*}
$$

where $\chi$ is the logical function given by $\chi($ true $)=1$ and $\chi($ false $)=0$.
Therefore, the sum in (2) results in the $(n-m)$ th difference of a polynomial of degree $n-m-1$. Consequently, $P^{(m)}(-x)$ vanishes for $0 \leq m<n$ and $P^{(n)}(-x)=$ $n$ !.

Because $P(y)$ is a polynomial of degree $n$, we confirm Abel's identity (1) by expressing $P(y)$ in terms of the Taylor polynomial at $y=-x$ as follows:

$$
P(y)=\sum_{m=0}^{n} \frac{(x+y)^{m}}{m!} P^{(m)}(-x)=(x+y)^{n} .
$$

§3. A binomial transformation. Gould [11, Equation 1.10] recorded a binomial transformation which can be reproduced equivalently as

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{x+1}{n-k} y^{k}=\sum_{i=0}^{n}\binom{x-i}{n-i}(1+y)^{i} \tag{4}
\end{equation*}
$$

Observing that both sides of the above equality are polynomials of degree $n$ in $y$. Denote by $Q(y)$ the sum on the right-hand side. Its Maclaurin polynomial expression reads as

$$
Q(y)=\sum_{k=0}^{n} \frac{y^{k}}{k!} Q^{(k)}(0)
$$

Then we confirm (4) by computing the $k$ th derivative of $Q(y)$ in the following manner

$$
\begin{aligned}
Q^{(k)}(0) & =k!\sum_{i=k}^{n}\binom{x-i}{n-i}\binom{i}{k} \\
& =k!(-1)^{n-k} \sum_{i=k}^{n}\binom{n-x-1}{n-i}\binom{-k-1}{i-k} \\
& =k!(-1)^{n-k}\binom{n-k-x-2}{n-k}=k!\binom{x+1}{n-k},
\end{aligned}
$$

where the last step is justified by the Chu-Vandermonde convolution formula.
$\S 4$. A binomial sum identity. Let $m$ and $n$ be the two nonnegative integers with $m \leq n$. There is an interesting binomial sum (see [20])

$$
\begin{equation*}
\sum_{k=0}^{n}(-1)^{k}\binom{n}{k} \frac{(y+k \lambda)^{m}}{x+k}=\frac{(y-x \lambda)^{m}}{x\binom{x+n}{n}} \tag{5}
\end{equation*}
$$

Clearly, this is an identity between two polynomials of degree $m$ in $y$. Let $R(y)$ stand for the sum on the left. Then its Taylor polynomial at $y=x \lambda$ is given by

$$
R(y)=\sum_{j=0}^{m} \frac{(y-x \lambda)^{j}}{j!} R^{(j)}(x \lambda)
$$

Evaluate the $j$ th derivative by

$$
R^{(j)}(x \lambda)=j!\binom{m}{j} \lambda^{m-j} \sum_{k=0}^{n}(-1)^{k}\binom{n}{k}(x+k)^{m-j-1}
$$

When $0 \leq j<m$, the last sum with respect to $k$ is the $n$th difference of a polynomial of degree $m-j-1<n$ that equals zero in view of (3). Instead, we have for $j=m$

$$
R^{(m)}(x \lambda)=\sum_{k=0}^{n}(-1)^{k}\binom{n}{k} \frac{m!}{x+k}
$$

Consequently, (5) will be confirmed if we can show that

$$
\begin{equation*}
\sum_{k=0}^{n}(-1)^{k}\binom{n}{k} \frac{1}{x+k}=\frac{n!}{(x)_{n+1}} \tag{6}
\end{equation*}
$$

where the shifted factorial is defined by

$$
(x)_{0}=1 \quad \text { and } \quad(x)_{n}=x(x+1) \cdots(x+n-1) \quad \text { for } \quad n=1,2, \cdots .
$$

In fact, it is routine to check that (6) follows from the partial fraction decomposition

$$
\frac{n!}{(x)_{n+1}}=\sum_{k=0}^{n} \frac{A_{k}}{x+k}
$$

with the connection coefficients being determined by

$$
A_{k}=\lim _{x \rightarrow-k} \frac{n!(x+k)}{(x)_{n+1}}=\binom{n}{k}(-1)^{k}
$$

§5. Two companion formulae. For the formula (1), Abel 1 found also a companion one

$$
\sum_{k=0}^{n}\binom{n}{k} x(x+k \lambda)^{k-1}(y-n \lambda)(y-k \lambda)^{n-k-1}=(x+y-n \lambda)(x+y)^{n-1}
$$

Besides, there exists a third one of Jensen type (cf. [14]) found by Gould 10

$$
\sum_{k=0}^{n}\binom{n}{k}(x+k \lambda)^{k}(y-k \lambda)^{n-k}=\sum_{m=0}^{n} \frac{n!}{m!}(x+y)^{m} \lambda^{n-m}
$$

Both of them reduce to the usual binomial theorem when $\lambda=0$. They can be proved by carrying out exactly the same procedure. The interested reader is encouraged to do it as an exercise.

## References

[1] N. H. Abel, Beweis eines Ausdrucks, von welchem die Binomial-Formel ein einzelner Fall ist, J. Reine Angew. Math. 1 (1826), 159-160.
[2] W. Chu, Inversion techniques and combinatorial identities: A quick introduction to hypergeometric evaluations, Math. Appl. 283 (1994), 31-57.
[3] W. Chu, Generating functions and combinatorial identities, Glas. Mat. 33 (1998), 1-12.
[4] W. Chu, Elementary Proofs for Convolution Identities of Abel and Hagen-Rothe, Electron. J. Combin. 17 (2010), \#N24.
[5] W. Chu, Finite differences and terminating hypergeometric series, Bull. Irish Math. Soc. 78 (2016), 31-45.
[6] W. Chu and L. C. Hsu, Some new applications of Gould-Hsu inversions, J. Combin. Inf. Syst. Sci. 14:1 (1990), 1-4.
[7] L. Comtet, Advanced Combinatorics, Dordrecht-Holland, The Netherlands, 1974.
[8] G. P. Egorychev, Integral Representation and the Computation of Combinatorial Sums, Translated from the Russian by H. H. McFadden: Translations of Mathematical Monographs 59; American Mathematical Society, Providence, RI, 1984. x+286pp.
[9] H. W. Gould, Some generalizations of Vandermonde's convolution, Amer. Math. Monthly 63:1 (1956), 84-91.
[10] H. W. Gould, Generalization of a theorem of Jensen concerning convolutions, Duke Math. J. 27 (1960), 71-76.
[11] H. W. Gould, Combinatorial Identities: a standardized set of tables listing 500 binomial coefficient summations, West Virginia University, Morgantown, 1972.
[12] H. W. Gould and L. C. Hsu, Some new inverse series relations, Duke Math. J. 40 (1973), 885-891.
[13] R. L. Graham, D. E. Knuth and O. Patashnik, Concrete Mathematics (2nd edition), AddisonWesley Publ. Company, Reading, Massachusetts, 1994.
[14] J. L. W. V. Jensen, Sur une identité d'Abel et sur d'autres formules analogues, Acta Math. 26 (1902), 307-318.
[15] S. G. Mohanty, Lattice Path Counting and Applications, Z. W. Birnbaum and E. Lukacs, 1979.
[16] T. V. Narayana, Lattice Path Combinatorics with Statistical Applications, University of Toronto Press, Toronto - 1979.
[17] J. Riordan, Combinatorial Identities, John Wiley \& Sons, Inc. New York - 1968.
[18] R. Sprugnoli, Riordan arrays and the Abel-Gould identity, Discrete Math. 142 (1995), 213233.
[19] V. Strehl, Identities of Rothe-Abel-Schläfli-Hurwitz-type, Discrete Math. 99:1-3 (1992), 321340.
[20] P. J. Zucker, Problem 1578, Math. Mag. 72:1 (1999), page 237; Solution: ibid 73:3 (2000), 243-245.

Wenchang Chu,
Via Dalazio Birago 9E, Lecce 73100, Italy, Phone: +3391210360
Orcid Id:0000-0002-8425-212X
Email address: hypergoemetricx@outlook.com and chu.wenchang@unisalento.it


[^0]:    2020 Mathematics Subject Classification. Primary 05A10, Secondary 11B65.
    Key words and phrases. The binomial theorem; Taylor polynomial; Abel's convolution formulae.
    (C) 2023 Maltepe Journal of Mathematics.

    Submitted on June 14th, 2023. Published on December 30th, 2023
    Communicated by Hacer Sengul Kandemir.

